Maytag DE18CA 05 - CONTROL PANEL (SERIES 03)

( DE-DG18CA-CM-CS-CT CONTROL PANEL - REAR VIEVﬂ
DE-DG18CA-CM-CT SERIES 03,04, 05 & 06
g:jg:{,, Sk [1)2E76?G18CS ALLMODELS
2-14650 3-3204 3-12706 g

3-2667

3-3420 3-3703

3-13923  3-3318 3-12751

2-13949 —

3-4624
3-4624L
3-a62am [ L
3-4624N

— 2-13949

2-4051
3-3204 3-3445 3-3448 2-12519
3-3318 3-3446 3-3449 2-14650
3-12702 3-13561 3-3447 3-3450 3-3420

2-12276
3-10637 . |
3-3413 s < W B +— 3-10522

3-3413A

-2-13949

3-3413K
3-3413L
3-34138
3-3413N

Grommet-06
m 3-12905 3-13561
DE-DG1SCT Onl
Power Cord-D6 2-12949 - ¥ 3-4624
3-2521 9-10422 3-4624L
3-4624M
3-4624N
2-12950
g 9-10426
2-2894 2-12276
2-12951
3-3413
2-12276 3-3413A
3-3413K
3-3413L
3-3413M
3-34130

Maytag Commercial Maytag DE18CA Dryer Parts Parts Diagram 05 - CONTROL PANEL (SERIES 03
Click on the part number to view part

Original Part Number Replaced By Part Description
001 204051 22204051 Knob
002 212276 W10116760 Screw
003 212519 488234 Screw 8-32 X 1/4
004 212949 22001866 Screw, Relay

Screw-Tc No.6-32 X 13/16",

005 212950 M0227520 Preform SwiTch

006 212951 Screw, No.6-32 X 1/4 Inch
007 213099 Lens For Control Panel

008 213949 Screw, No.8-18 X 5/16 Inch
009 214650 Screw For 2-4051 Knob
010 Y303204 Start Switch With Nuts

011 NLA Not Available TOP COVER-WHITE

012 NLA Not Available TOP COVER-ALMOND
013 NLA Not Available o SOVERHARVEST
014 Y303420 Not Available SELECTOR SWITCH

015 NLA Not Available MAIN WIRE HARNESS


http://www.pwslaundry.com/c-298607-commercial-maytag-de18ca-dryer-parts-for-repair-service
http://www.pwslaundry.com/i-7797636-maytag-22204051-washer-dryer-knob.html
http://www.pwslaundry.com/i-7803902-maytag-w10116760-washer-dryer-screw.html
http://www.pwslaundry.com/i-7796974-maytag-212519-washer-dryer-screw-no-8-32-x-1-4-inch.html
http://www.pwslaundry.com/i-7802266-maytag-488234-washer-dryer-screw-8-32-x-1-4.html
http://www.pwslaundry.com/i-7797154-maytag-22001866-washer-dryer-screw-relay.html
http://www.pwslaundry.com/i-7803737-maytag-m0227520-dryer-screw-tc-no-6-32-x-13-16-preform-switch.html
http://www.pwslaundry.com/i-7796980-maytag-212951-washer-dryer-screw-no-6-32-x-1-4-inch.html
http://www.pwslaundry.com/i-7796997-maytag-213099-washer-dryer-lens-for-control-panel.html
http://www.pwslaundry.com/i-7797013-maytag-213949-washer-dryer-screw-no-8-18-x-5-16-inch.html
http://www.pwslaundry.com/i-7797036-maytag-214650-washer-dryer-screw-for-2-4051-knob.html
http://www.pwslaundry.com/i-7805564-maytag-y303204-dryer-start-switch-with-nuts.html

016
017
018
019
020

021

022
023
024
025
026
027
028
029
030

NLA
Y303703
NLA
NLA
NLA

NLA

Y310632
Y311423
NLA
Y312702
Y312706
312751
Y312905
Y313561
NLA

1163839
489483

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

Not Available

Not Available

MAIN WIRE HARNESS

Pilot Light

SCREW & WASHER ASSY.
CONTROL COVER-WHITE
CONTROL COVER-ALMOND

CONTROL COVER-HARVEST
WHEAT

Screw

Screw 10-32 X 1/2

BACK FOR CONTROL PANEL
Knurled Nut, Start Switch

Nut

Lockwasher, Start Switch
COVER, TERMINAL
Screw-—-NA

CONTROL PANEL


http://www.pwslaundry.com/i-7805584-maytag-y303703-dryer-pilot-light.html
http://www.pwslaundry.com/i-7796343-maytag-1163839-washer-dryer-screw.html
http://www.pwslaundry.com/i-7802278-maytag-489483-dryer-screw-10-32-x-1-2.html
http://www.pwslaundry.com/i-7805694-maytag-y312702-dryer-knurled-nut-start-switch.html
http://www.pwslaundry.com/i-7802230-maytag-422617-dryer-nut.html
http://www.pwslaundry.com/i-7800728-maytag-312751-dryer-lockwasher-start-switch.html
http://www.pwslaundry.com/i-7805720-maytag-y313561-washer-dryer-screw-na.html

	Maytag DE18CA 05 - CONTROL PANEL (SERIES 03)

